m B Al B KSR R

(BH%)

o % B HE(Keg) HEOG 2 & hE(%) EHEHE
1 * ¥ ~N Y 112,118 23.2| 2 96, 681, 487 8.3 13
2 = ES 1 E 318, 194 9.6/ 6 32, 889, 542 4.8 103
3 |k ~ ~ 315, 625 9.5 1 16, 598, 695 11.2 243
4 = (A : A 289, 488 8.7 8 23,984, 342 3.5 83
5 & w 3 Y 187, 553 5.6 3 52, 280, 924 1.6 279
6 ¥ K W L & 175, 315 2.3/ 9 23, 666, 611 3.5 135
7 & 5 % 5 2 L 125, 243 3.8/ b 33, 201, 511 4.8 265
8 & El 104,218 3.1 4 46, 078, 222 6.7 442
9 < A ~ 103,974 3.1 14 14,318, 442 2.1 138
10 | 1 < & (A 96, 102 2.9 21 8,761,790 1.3 91
mn v 3 A 90, 988 2.7 16 13, 286, 864 1.9 146
12 15 & 13,314 2.2 11 22,818,310 3.3 312
B £ — = b 66, 207 2.0 12 20, 028, 155 2.9 303
4 = = + < k 63, 211 1.9 17 25,017, 381 3.7 396
15 R F 61, 730 1.9 10 23,043, 355 3.4 373
16 | A ES 5 * 43, 602 1.3 17 12,108, 739 1.8 218
17 | C E3 AN 40, 429 1.2} 20 9, 347, 394 1.4 231
B F 5 1 A £ 5 38, 353 1.2 13 18, 263, 292 2.7 476
19 | » A L & 31,675 1.0 27 6, 403, 644 0.9 202
20 7 ooy a1y — 26, 693 0.8 26 6, 549, 216 1.0 245
21 |12 5 24,646 0.7 28 9,925,315 0.9 240
22 L & C 19, 940 0.6 22 8,494,671 1.2 426
2 2 o F = If 19,372 0.6 36 3, 306, 258 0.5 171
24 | T ES 3 16, 022 0.5 24 1,112,287 1.0 444
25 L & 5 M H 15,292 0.5 19 11,367, 788 1.7 143
26 A A 15, 250 0.5 46 1,984,719 0.3 130
21 | i AN (A b 15,100 0.5 29 5, 784, 696 0.8 383
28 | IS A 2 < 12,659 0.4 15 13, 681, 818 2.0 1,081
29 & L W = i 11,024 0.3 23 8,172,270 1.2 141
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(B 3)

o % H HE(Ke) RO T & @ E (%) TRBE
5 o F & S 10, 826 0.3 34 3,567,534 0.5 330
37 R N T A R 10, 711 0.3 18 11,390, 323 1.7, 1,063
2 T X A E S 8,439 0.3 30 5,095, 219 0.7 599
3 i o) < 8,072 0.2 44 2,144,070 0.3 266
¥ FrhyT U4 1,530 0.2 45 2,142, 439 0.3 285
3% |t |2 ) — 1,002 0.2 40 2,743,092 0.4 392
36 b [+ =3 6,528 0.2 31 5,043, 515 0.7 173
3 % =) ES & 6,123 0.2 42 2,322,799 0.3 379
38 = &£ 3 AN 5,938 0.2 43 2,192,022 0.3 369
39 L z 5,340 0.2 39 2,969,919 0.4 556
40 W A +F A 4, 680 0.1 33 4,072,473 0.6 870
41 | E — A 4,569 0.1 38 3, 160, 292 0.5 692
42 | F Z 2 4,542 0.1 35 3,332, 340 0.5 134
43 | & H = 4,292 0.1 49 1,812,174 0.3 422
4 | = & Ly % 3,975 0.1 50 1,793,070 0.3 451
45 | A & 3,729 0.1 56 801, 844 0.1 215
46 # 2 & B 3,233 0.1 54 813, 435 0.1 252
471 | # &£ 3 A 2,793 0.1 32 4,703, 939 0.7 1,684
48 | » L h h 2,764 0.1 55 802, 669 0.1 290
49 | F Ly 1= [+ 2,745 0.1 52 1,446, 923 0.2 921
5 | X E3 2,637 0.1 25 6,807,914 1.0 2,582
51 A = A 2,455 0.1 37 3,261, 319 0.5 1,328
52 » F o W 3 2,200 0.1 51 1,991, 164 0.2 123
8 T ¥ v L v b 2,115 0.1 48 1,828, 332 0.3 864
4 | Z = ES & 2,056 0.1 41 2,313, 338 0.3 1,154
% (A U 7 3 T — 1,755 0.1 61 424,741 0.1 242
56 | /N t ) 1,710 0.1 47 1,947,078 0.3 1,139
57 w A F L 1,612 0.0 58 765, 104 0.1 475
o8 v b FH X 1,326 0.0 60 665, 648 0.1 902
5 T A & 5 T W0 1,253 0.0 62 383, 303 0.1 306
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(B 3)

£

s & Z HE(Keg) RO 1 & R FHEE
60 LLé&ESAHLL 819 0.0 53 1,445, 493 0.2 1,765
61 D ES x 563 0.0 68 174, 096 0.0 309
62 H 2 a VA 557 0.0 65 247,946 0.0 445
63 I A I 3F 482 0.0 64 255, 366 0.0 530
64 £ A ~ A4 ¥ 333 0.0 63 345,016 0.1 1,036
65 | D b A 267 0.0 66 213,948 0.0 801
66 | & ] 253 0.0 59 671,554 0.1 2,654
67 AN - 2 3] 231 0.0 57 786, 199 0.1 3,403
68 T v Yal)l— LA 177 0.0 67 186, 237 0.0 1,052
69 Y 97 0.0 T 86, 562 0.0 892
0 | b ) [0 87 0.0 73 50, 621 0.0 582
AR ) E 64 0.0 74 37,476 0.0 586
2 El 4] 59 0.0 69 162, 324 0.0/ 2,751
B A k) 32 0.0 72 71, 350 0.0 2 417
14 | % 1€ o 29 0.0 76 20, 088 0.0 693
15 | bH = [6) 10 0.0 70 88, 236 0.0/ 8,824
16 | & 5 A B L 10 0.0 75 24,408 0.0 2,441
17 |l * 4] 1 0.0 77 1,620 0.0 1,620
1 T 0O i B x # 5, 452 0.2 2 1,975, 536 0.3 362
2 | 0O M £ ¥ B 4,584 0.1 4 757, 961 0.1 165
3 ZTOMEEDEME 2,009 0.1 1 2,127,027 0.3 1,059
4 T DM EEXSH 1,579 0.0/ 5 579, 955 0.1 367
5 TDOMEDHE 1,572 0.0/ 3 969, 322 0.1 617
6 | o Mt F E 212 0.0/ 6 244, 607 0.0 1,154
7 F O #h B X £H 102 0.0 7 121, 446 0.0 1,191
8 | o M * X £ 2 0.0/ 8 2,808 0.0 1,404

g7 X H 3,325,990 100.0 685, 229, 032 100.0 206
(B=%)
e ) = HE(Kg) HEOG ZH @ B LI (%) FHEH
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(BR=)

o % H HE(Ke) RO T & @ E (%) TRBE
[ L ) 1,532, 316 99.8| 1 322,552, 832 42.5 211
A = H 386, 448 5.1 2 133, 301, 412 17.6 345
3 N + + 247,721 9.7/ 6 41,030, 960 5.4 166
4 Y A T & 112, 665 4.4, 5 44,602, 364 5.9 396
o | H M A B 65, 252 2.5 4 64, 756, 302 8.5 992
6 & 3 & 3 52,611 2.1 3 80, 759, 4217 10.6| 1,535
7 TJL—FI7L—-v 31, 382 1.2 10 5,436, 642 0.7 173
8 |\ B C &t 15, 786 0.6 7 12,087, 523 1.6 166
9 NLYOTHLID 14,943 0.6 14 3, 555, 986 0.5 238
10 L £ v 14,180 0.6 12 3,996, 833 0.5 282
nm Ra4av7y7u 13, 403 0.5 15 2,842, 668 0.4 212
12 |9 & t 10,187 0.4, 9 5, 555, 543 0.7 945
13 % & & 1,929 0.3 8 6, 056, 251 0.8 164
“H £947)L-=Y 6, 602 0.3 13 3,811,476 0.5 286
B A5 & 5 H 6,218 0.2) 11 5,053, 309 0.7 813
16 | 2 i} 2 4,440 0.2 17 995, 436 0.1 224
17w 5 5 < 1,436 0.1 16 1,980, 461 0.3 1,379
18 el 254 0.0 18 355, 752 0.0 1,401
T2 o # M B 8 24, 805 1.0 1 10, 597, 392 1.4 421
2 TOMBFTERAFRE 10, 778 0.4, 2 8,228, 553 1.1 163
3 T o o RO 1,507 0.1 3 730, 350 0.1 485
4 ZTOMERL &S RE 22 0.0 4 35, 640 0.0 1,620

ES = &t 2,560,891 100.0 758,383,112 100.0 296
(850, MI&H)

o % H HE(Ke) RO T & #E E (%) THBE
T3 © L 27, 359 40.5| 2 3,003, 210 17.3 110
2 5 O & 17,109 25.41 1 4,502, 957 26.0 263
3 |2 A I » (< 2,295 3.4 4 576, 495 3.3 251
4 > o 3 o & 2,004 3.0/ 3 1,195, 092 6.9 296
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(BEN, MMIT &)

o % H HE(Ke) RO T & @ E (%) TRBE
5 F O mIm 560 0.8 6 242,181 1.4 432
6  ® X & 035 0.8/ 5 472,706 2.1 884
7 3 e & 3 362 0.5 7 231,769 1.3 640
8 ™ A T 5 LD 128 0.2 8 228,096 1.3, 1,782
9 X =2 -3 12 0.1 9 78,948 0.5 1,097
1084 F £ v 2 A 30 0.0 10 64, 843 0.4 2 161
mi+ L W = It 1" 0.0 11 33, 869 0.2 3,079
1 TofmITRRE 11,442 17.00 1 4,316,713 25.3 383
2 T OfhmIT¥H X 2,749 4.1 3 995, 292 5.7 362
3 T O f m T & 2,589 3.8 2 1,136,197 6.6 439
4 T 0fthFRE X 188 0.3 4 141, 469 0.8 152
5 TOMmEEBERRE 38 0.1 5 40, 068 0.2 1,054

EO. MI &S 67,471 100.0 17,319,965 100.0 257
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